NEME--- ST FEHERS RS i

AR T, AREESAERR

5 LTl

—. HIES A
60 X b= 700 X 6= 400 X 8=
56+T= 34+8= 92-6=
250X 4= 420=17= 360 +6=
. BE
420 1234 150 13 4]
530 +—> | 240 +— |
380 J 360 o |
= AT
135X b= 206 X 8= 402-+8= 3b6+7=
. RS L5
1.
204
AW ]
#, v
L Z10%
Foit —
7%
2.
AR FBI0R
2 R
3.
454
/—A_\
R =
BT L
3 . L
154
BS s, T, BN, SRR )
% T, BIOREESMRER




OSRG-S FBHERSHES i
1T, BAREESHRRE

4.
1514
*
2 Fh
B : ‘5
g N

2% %,

Ton MRAE CRAZEAF, SR U
L. B 330 BTG 20 BF4E HAPSER 40 B,

7 \5(% 2 :Fﬁo

3. A 42 1R NIAE 36 IRAMNEL S MREFIR—F % 3 1R,

AN )
LN INTRFI NS = ABREBELZR ANTEBE T 26 T /NEBE T 18 T /NEBEAIELAtE
(IFBEAOSFNRG 2 (54 54 T, NBBKTSBT?




SRS i, Tin, ER, BRI

JA;fl" K

1SRE T, BAEESRESE

OS8R ERNFENERSES  hg

e TE, BIREREESMERIR

2. IEISE 8 SHREFAT 96 7T, | AFHEONIELL | THRED 3 7T, | AFHE
D2

3. B, ZPBIEHALE 118 T5 FABEL 2 TROmEMZBnaNE. RIS
ST

1. ABHRESEUT 25 ERLIHTREIILEL 3 B0 10 &, KAF
SEWPRENE?

5. —HRYIHE 12 7T, —SUKERIE 10 7T, —RISTE MR Sl —SRIDFER— SRR
FEINERAORY 2 82D 2 JT. — RIS MES Dek?

6. —%2 800 FERYKE B —REH—4 B IRZELF TH—FFE=IXIOA 50 72,
REXEEEE?

7. Z()IE 45 A HAF 25 ABRE (REWHIR) 35 ABNRE (Fhsc) RE
AEDE—DNBESO AR B REHERE?




SRS s, s, E, ERTRI
& ST, EDATEE

ORI S HENERSES i

R T, BRREESERR

FheTliieEs

. 300 4200 3200 8 42 86 1000 60 60

. 1260 1590 1140 50 80 120

675 1648 50......2

PO, 1.20+8=28(%) 28+10=38(%%)
2.20+30=50(F) 50X 2=100(R)
3.45X2=90(4)  90-15=75()
4. 15X 3=45(F51) 45-22=23(F33)
h. L. ERERE— TERELE?
20X 3=60(%8) 60-40=20(48)
—REEE P F5?

2. BRAME—

2X3=6(F5) 6+2=3(F3) 3X3=9(F5)

3. BEAME— MBS R2136=T8(1))
78+2=39(18) 39+3-42(18)

7. 1. 18+26=44(F) 44X 2=88(F)

88-54=34("F)
2.96--8=12(J5) 12-3=9(JT)

3.118-2=116(F33) 116+2=58(F5=) 58+2=60(F53)

4.25X 3=75(f%) 75-10=65((F)
5.12+10=22(3T) 22X 2-2=42(5T)

6. 800-2=400(33) 400--2=200(33) 200+50=250(53)

7.25+35=60(A) 60-45=15(A)

EEMRER






